o
)
=
<
>
Mo

D

B (x-y)*(x +y)?

@ x* -y @ x%-y?
(@)x4—2x2y2+y4 @ xt—x%y? 4y

® x* —4x?y? +y*

(x=y)%(x+y)? = ((x-y)(x+y))?
= (a2 —y?2)?
— x4 _2x2y2 _|_y4




F oA 2 +ax-2, 2 +3x+ b9 HPFLFT -1 I, T
a, b2 & a+b2 727

A4}k x - 10122 Z42te] Hof x = 18 Y3t 0o]
Hr.

14a-2=0,14+34+b=0° a=1, b=—-4
L a+b=-3




3. S Eeliol thote] i+ 2+ +it +i° + i° & Thds|shA?

® 1+ ()—LH ® 2i
® 2

@ 2+i

i+ +B3 4+t +®+4¢
=i+ (1) + (=) +1+i+(-1)
=-1+i




L 3i
4 =TV o e gren

2
® -1 @0 ®1
@ - V3i 5 14+ V3i
2 2
x=1_TV§i94°J'ﬂ°1]2%%3}fﬂ2x:1—V§i

JHBER 2x—1=—V3i

o Alo] e ABAW 47— dx+1= -3
Z 4x2 - 4x+4=0
o2hA, x2 - x+1=0




A x?2+2k-1)x+4=00°]

1%

o

ol
ol
ol
il
&

®)2

@ 0

D1

o
Il

Q

X
moo
B
'Y
W o
X
N

ol =
I
No Q=

0

k2—2k-3=0, (k=3)(k+1) =

Lk

3,-1




1}‘%“ﬁx tax+b=0°% Fol1-idm, a+b 9 g=

T (2, a.b = A5

® 1 @ 2 ® 3 @1 o

o2 g 22 B4 He2Ql 1+ °o|BR
F2Yg: 1+i)+(1-i)=-a .. a=-2
T2 F: A+)A-i)=b b=2




*}XP%H%J K -11x2 +30 =02 4 2
S pet S o, o2 + b2 9 FHeY

@ 8 @ 9 ® 10

= 714

B

¥ -11x24+30=0




A +ax? +2x+b = (2 + x+ 1)Q(x) + 2x + 1°] xof tha
SAL o g+ 59 G227

I

ool of

v -1 @ @ 1 ® 2

O(x) = x+c @ £ AAHste] AE vlLA
a=0,b=0,c=-1°1E24+b=0

~&B ‘

X+ ax? 4 2+ b 2 4 x+ 12 AH Al 5,

z+(a—1)
F+o+l) drad+  20+b
o g T

(a=-1)a’+ z+b
—|(a=1)2*+(a—1)z+(a—1)
(2—a)z+b—a+1

2-a=2,b-a+1=1
aZO,b:O




@ b=2 ®@c=1

D a=3

@ d=4

x- 12 9l we] S} vhoj2) g

b o

=
=
Il

XBPtax2—x+b
ZHA S o]-goto] +

FA

o}

3 2,

O
=

a+1

1
a-+1

al|b+a




10. oA 2x2 —xy—y?2 —dx 4+ y+ 25 A5ES| s 429

D@ 2x-y-2)(x+y-1) @ 2x+y+2)(x—y+1)
® (2x-y-2)(x-y-1) @ (2x+y-2)(x+y-1)
@(2x—|—y—2)(x—y—1)

)x— (% -y-2)
)x O+ -2)




11.

olaako] A%7H 191 5 Tkl o] AT BoRTt x - 1011, 4
G720 4+ 2 - 2w W, 5 TheHAl ] e

an

@2)(2—2 @ 2x24+x+1 @ 2x24+x-1

@ 2x2 4+ x+2 ® 2x2+x-2

~&B

AT B 4+ x2 -2 =x(x-1)(x +2)
A B 1 (x-1)

ot F A2 2 —x, X2+ x-2
L2x% -2




12. = o4 A, B A0} %
Uehyr)2 gk g

%F» GE A-B, HATHS LS

(A% - B%)%(A? - AB) o} 2 A7

@1 @ A 3® AB @ AL ®)AG

B

A =aG, B=0bG (a, b= A=24)2 ot
A? . B% = a2G? - b2G? = G?

A% - AB = a>G? - abG? = aG?
o (A% - B%)% (A% - AB)= G*%aG? = aG? = AG




13.

W 4x-1=0%A 0, 2 - 5x 9 g FEHA?

@ 2 @1 3 0 @ -1

B

O -5x B2 +x-12 UFH
= x5—5x=(x2+x—1)>< =3
¥ +x-1=0
X0 —5x=-3

~&B

Th5T o] A9] A4 B3 U 4 Qo
¥ =-x+1
x® —5x = (%)% x x - 5x

= x(-x+1)?-5x

=x3—2x% —4x
=x(-x+1)=2(-x+1) - 4x
=-x?-x-2

=—(x>+x) -2
=-1-2=-3




14. 27} opd RE A2 (o] gi5to] w

A a, b S AT, a-b9) gk%?

o] gro] 4 AAFE=S

@5 @ 6 @ 7 @8 -~

B ‘
M:ka}g}ﬁ
x=2
ax? +4x+b = k(x - 2)
ax? + (4-K)x+b+2k=0
xoll et g5 Ale| 22
a=0
d—k=0°1M k=4
b+ 2k =004 b= -
“a-b=38

~&B ~
Fol7l Ao] HE xof thsf LA 2te 7HA#E
B2 ax? + dx + b7 BRI x - 2’ T Q152 Fha{of gi,
%, BA7} k(x - 2) 7} Elofof gt
ax® +4x+b _ 4(x-2) _4

x=2 x=2
a=0,b=-8NMa-b=38




15.

S 2 -3x4+22 UYE 0 30] E, 2 —4x+ 302 s O
St S e

D 6x-1 @ 6x-2 ® 6x-3

= (¥* = 3x+2)01(x) +
(x=1)(x=2)Q1(x) +3------ @
(x* —4x+3)Qa(x )—|-3x
(x=1)(x=3)Qa(x) 4+ 3x- -+ ©
( 5

(x-2)

/\
\_/

f(x) = (x*=5x+6)Q(x) +ax+b
= (X - 2( )Q( )—|—ax+b ...... @
@, @A f(2)=3=2a+b ------ ®
©, @A f38)=9=3a+b ------ @
@, @M a=6,b=-9
9

~HHAE 6x -




16.

HAr o
4+ 3i 3
tha = *5 Lol 505(a%)t O] GES 817
D)4 +3i @ 3+3i ® 2+3i
@ 1+3i ® -1+3i

=a+bi(a, b= AF)ol tste] o = b+ ai = HEHH

aa* = (a+ bi)(b+ ai)
=ab + a®i + b%i — ab = (a® + b?)i

. 2 2
a:ﬂolﬂiaa*:{<é> —|—(§) }i:i
5 5 5

o bad(a*)t = 5a(a-a*)?
4 3
_5. —231 A
=4+3i




)RR y =22 —x+30] AX y = kx - 6 BT P §1% ] AEF
Akl e ‘%H—E—lé st o <k <polth ol W, o+ 59 g
T8HA?

D)-2 @ -1 @0 @ 1 ® 2

y=x>-x+3-(kx-6) =x2-=(1+kx+9 A D<0=
o|-§sto] o + 5 5HH,

(1+4)2-36<0

K24 2%k—35<0, (k+T)(k=5)<0.. —T<k<5
Lat+B=-T+5=-




18.

@ 90cm? @ 92cm? @ 94cm?

8

o
)
o
Lo
)
=
i

Z40o]E xcm, WOlE ycm? 2t 5HH

x(

=
I
[\
oo
|
=
e

(—x* + 28x)

N~ N~
—_

= —E(x2 — 28x)

1
= —5(x— 14)2 4+ 98




19. e (20) 4 (2) 1o am e sen
1000 1000
32 x 997° 32 x 997° 32 x 997°
O @ 10 ® - 10
32x 997 @ 32 %997
10
997 § 997 + 3

A Ao — 3 — & G HH — 10|22
Fold Al 1000JJr 1000 A<f 1000 ]

997 3
=—_ b=—,c=-10° ™

1000 Togr € = ~LoIFF st

a® + b3 + ¢3 - 3abe
= (a+b+c)(a®+b*+

a+b+c=0°] Hc}.
WA a+b+c=00]

2=

+c?—ab-bc—ca) oA @ +b3+c3 = 3abe

dZ o]-8ohH
drpae— (D) (B ) cpage
3abc = 3 x 1909070X103WX(_1)9}€22—E"
Foh g

3x% %x(_l):_ng_ogw




A7t 100m ¢ F A A, B7F Aok, 2 A4 Tsie] B
21, S BolA EWst] AR AUAE B T F AFE
Bl et P7\]Zq°ﬂ*1 ‘?_P‘;d'}:tﬂ Uh)r—! LA 7He g2 5
B, &2 2%

2R o,

® 20m @ 30m @%m

121 147
@— @7

T
A,

PAto] €] 74 E]%?

ol £L 2 o, 29 £ 2 gt 51

a b
A P B
a+b=100- ©
a_bib_g a4y
a B « B

- b
I LA

_ 1
Dol Y3, 3¢ =100 a = %m




